ALGEBRA -1
MCOS




¥ 4 ) ’
17 Feb 2025 Live Iaes Schedule

R 5:00AM (17 FEBRUARY 2025 DAILY DEFENCE UPDATES  (@IRZYEIIRL
10:00AM (17 FEBRUARY 2025 DAILY CURRENT AFFAIRS (@ TINY
SSB INTERVIEW LIVE CLASSES
9:30AM ( COMPLETE PSYCH TEST ANURADHA MA'AM
AFCAT 12025 LIVE CLASSES

( STATIC GK - INDIA & UNO [ DIVYANSHUSIR

( ENGLISH - ONE WORD SUBSTITUTION - CLASS 1 (@YY YIY

00 00 @ B

10:00AM ( MATHS - DIFFERENTIABILITY
( PHYSICAL GEOGRAPHY - CLASS 3
(BIOLOGY - CLASS 6

( ENGLISH - ORDERING OF WORDS - CLASS 1 ANURADHA MA'AM

b B

( PHYSICAL GEOGRAPHY - CLASS 3
L&D  (BOLOGY-CLASS 6
CEIDD  (ENGLISH - ORDERING OF WORDS - CLASS 1
_CTD (MATHS - ALGEBRA - CLASS 1 . Frral

) CALL US: 080-69185400 P> Soogeplay || DOWNLOAD R


https://learn.ssbcrackexams.com/learn/CDS-Exam-Online-Video-Lectures

CDS 1 2025 LIVE CLASS - MATHS - REVISION

1 5% .
If4x +—=5, x#0, then the value of —
Q)If4x " 5, en the value of 25— 1s
(@ 172 b) 173 © 23 (@@ 3
s 5 (i) . _ %
v ra g ?+I0#
1N (1) +

y 1=

1))

/5

©s |~



CDS 1 2025 LIVE CLASS - MATHS - REVISION

Q)If4x + 1 5, x#0, then the value of
X

@ 12 () 173 © 2/3

Ans: (b)

5x

A2 +10x+1

(d) 3
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Q)If x® — 1442x* + 1 = 0, then a possible value of

1.
X——1s:
X

@ 3 (b) 8

= 1421t £ =0

‘vai’alini 50( x”/

d- M+ L =0
z'/

o+ L = 1443
y &4
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() 4 (d 6
e /Y
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Q)If x3 — 1442x%* + 1 = 0, then a possible value of
1

X——18:
X

@ > (b) 8 (c) 4 (d) 6

Ans: (d)
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(@]

Q)For what value of k, does the equation
[kx* + 2k + 6)x + 16 = 0] have equal roots?
(@ 1and9 (b) —9and 1
(¢) -1 and 9 (d -1 and -9
"

y
Dfscvfmfnam‘/ ) = b* - 4ac =0 7{" alz%éx,tc,:D (fuar{mﬁﬂc
2 Ovndff}%n)

(Rk+8)" = 4(k)(18) =0

W+ Ayk +36 - L4k =0
Lrt — 4ok + 36 =0 k=) and §
v—’—’“M/

kt - ks 9 = Od/ﬁ
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Q)For what value of k, does the equation
[kx* + 2k + 6)x + 16 = 0] have equal roots?
(@ 1and9 (b) —9and 1
(¢) -1 and 9 (d -1 and -9

Ans: (a)
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Q)If a® + 3a? + 9a = 1, then what is the value of a® + (3/a)?
@ 31 (b 26 © 28 (@) 24

3 2 < _— %3
a3'1'3a9"f?q =/ X Q o t 3074 9a =/

30 + 90" + 3%a = 8
N 3 + L -~ Q — ~—" (9')
a7+ 30 7 e ' 0) /
() - (2, pide 4 o,

o — 372 a-ﬁ/ L -(20
280
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Q)If a® + 3a% + 9a = 1, then what is the value of a3 4 (3/a)?
@ 31 () 26 © 28 (4 24

Ans: (c)
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X v zZ

Q)1t

then find‘a’ if x+y+z=0
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(- a(maJ“)
z = “(Hd'uz)

(2X+V+72Z) - (X+2y+7) - (X+y+22) -
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X v zZ

Q)if = — —
(2x+v+2z) X+2v+2) (X+y+22)

then find ‘a” if x+y+z=0

@) (b)

1
4

W | =

©

@ L
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Ans: (b)
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Q)If x = 4ab , then the value of X+2a+x+2b 1s equal to:
a+b x—2a x-2b
@ 0 b) 1
(c) 2 (d) None of these
X+ 2a - 0+ 3b
- O?a-ZL = B
: L+ 2b b—o
a+b \
xr = {6 X - da
) oa+b b atb
X+da_ - 457‘(“% X+ 3 Jath
A —da b - (MEJ X-db a-b

a+36 -34—41_

2(6-0) ()

b-a
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4ab X +2a

X+2b .

Q)If x = , then the value of + 1s equal to:
a+b Xx—2a x-2b
@ 0 (b) 1
(c) 2 (d) None of these

Ans: (c)
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Jx
@ 18  (b) 14

Q)If \/;—f-

X

(c) 16

1 .
=6, then »” + —- 1s equal to:

d 12
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Jx
@ 18  (b) 14

Q)If \/;—k

Ans: (b)

X

(c) 16

1 .
=6, then »” + —- 1s equal to:

d 12
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Q) A man has ¥ 480 in the denominations of one-rupee
notes, five-rupee notes and ten-rupee notes. The number
of notes of each denomination is equal. What is the total
number of notes that he has ?

@ 45 (b) &0
© 75 (d) 90
L+ X+ = 31
h = 460
i) + 5(x) +lo(3) - 4130
lbx = 448

X =30

Y
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Q) A man has ¥ 480 in the denominations of one-rupee
notes, five-rupee notes and ten-rupee notes. The number
of notes of each denomination is equal. What is the total
number of notes that he has ?

(a) 45 (b) &0
(c) 75 (d) 90

Ans: (d)
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Q) The graphs of ax + by = ¢, dx + ey = f will be:
L  parallel, if the system has no solution.

II. co-incident, if the system has finite number of
solutions.

L. intersecting, if the system has only one solution.
Which of the above statements are correct?

(a) Both I and II (b) Both II and III

(c) Both I and III (d) All of these

' o st [/ (it ol
17 /- sife line

fmml/d [ihs comcldent (Ind,

In ‘fc'r.nchgra\

lines
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Q) The graphs of ax + by = ¢, dx + ey = f will be:
L  parallel, if the system has no solution.
II. co-incident, if the system has finite number of
solutions.
L. intersecting, if the system has only one solution.
Which of the above statements are correct?
(a) Both I and II (b) Both II and III
(c) Both I and III (d) All of these

Ans: (c)
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Q) A certain number of two digits 1s three times the sum of
its digits. If 45 1s added to the number, then the digits will

be reversed. What is the sum of the squares of the two
digits of the number ?

(a) 41 (b) 45
(©) 53 d) 64

Ten's /)/acc dﬁf/ =7 Unif )MM 0/’&’.} "d‘

fox +

i = 3(’”(}‘)
AR

d:j—-x T~ o

/Dxfdr + 4 = /?d +X

Ix - 4& = =Y

2= 5 5 fy-2-=
ﬂ\//_;d__xxf

2
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Q) A certain number of two digits 1s three times the sum of
its digits. If 45 1s added to the number, then the digits will
be reversed. What is the sum of the squares of the two
digits of the number ?

(a) 41 (b) 45
(c) 53 (d) &4

Ans: (c)



CDS 1 2025 LIVE CLASS - MATHS - REVISION

2 3

X
Q) If—+§ =4 and _ T =1, then what is x + yequal to?
2 3 X ¥
(a) 11 (b) 10
(c) 9 (d) 8
2
LSRR yrox = U x 2

N v/ 6ry
fd{ il 4 X2

Xt
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X y 2,3 .
Q)If -+ =4and — t— =1, then what is x + y equal to?
2 3 X ¥
@ 11 M) 10
(cy 9 (d) 8

Ans: (b)
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(@]

=’ +(-2"+(GE-x",
x-y)(y-2)(z-x%

(@) 0 ®5; ©5 @]

v= 1y brg-% i ¢RI

&+ = 3abe

Q)What 1s the value of

¢+t = 3abe
- —_— e
7 abe Dabe. % arbre =0
X-Y +4-Z+4-2 =D
-~ al J
Iy

At Q + 8 1e> - Zabt = (M‘Al’d)(tl"‘f bire” - ab -be -coy
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Q)What 1s the value of

(@ 0 ®) 3

Ans: (b)

(-y) + =2 + (2=,

x-y)(y-2)(z-x)

©5 @1
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Q) If the polynomials f(x) x4 — 2x3 + 3%x% — ax + b is divided

by (x—1) and (x + 1), the remainders are respectively 5
and 19. The values of a and b are:

(a) a=8,b=7 (b) a=5,b=8
(c) a=8,b=5 (d) a=6,b=8
) = 0'— 22+ 30" - ax 46 fl-1) =1
3 2
W a3 L % (-1)7 = 3(-1) +3[-l) —a(-1) ¥4 =19
f(’) =V -a0)° +30)" -al) 44 = 5 ‘
( | -4 +3—-a+b =5 [+ats farh =7
1=l =0 044 = 13— (2)
2=/

=/ b-a =3 —(1) ((I)+[z)=)g=g/-(;)—[z)%a=5‘_
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Q) If the polynomials f(x) x4 — 2x3 + 3%x% — ax + b is divided
by (x—1) and (x + 1), the remainders are respectively 5
and 19. The values of a and b are:

(a) a=8,b=7 (b) a=5,b=8
(¢c) a=8,b=5 (d) a=6,b=8

Ans: (b)
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Q) For what value of a and b, (x3 — 10x* + ax + b) is exactly
divisible by (x — 1) and (x —2)?
@ a=23,b=-14 (b) a=-23,b=14
¢ a=21,b=-14 (d a=-21,b=15

@ /o(x) _— ~ lox" + ar+b

/’(f) =0 /D[z) =0
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Q) For what value of a and b, (x3 — 10x* + ax + b) is exactly
divisible by (x — 1) and (x —2)?
@ a=23,b=-14 (b) a=-23,b=14
¢ a=21,b=-14 (d a=-21,b=15

Ans: (a)
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Q)If £‘+z:m

@)

©

X

Y

np + mq

mp + nq

np —mgq

mp —nq

and L4+ £ = n, then what 1s had equal to?

A Y

(b)

(d)

np + mq
mp — nq
np —mgq

mp + nq

Y



CDS 1 2025 LIVE CLASS - MATHS - REVISION

Q)If £‘+z:m

XY
np + mq
@) m
P+ ng
np —m
©) p —myg
mp —nq

Ans: (c)

and L4+ £ = n, then what 1s had equal to?

A Y

(b)

(d)

np + mq

mp — nq

np —mq

mp + nq

Y
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Q)lfa?=b+c, b*=c+a,c*=a+ b, then the value of

1 1 1
+ +

l+a b+1 1+c
(a) abc (b)y a*b*c* (o) 1 (d O
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Q)lfa?=b+c, b*=c+a,c*=a+ b, then the value of

1 1 1
+ +

l+a b+1 1+c
(a) abc (b)y a*b*c* (o) 1 (d O

Ans: (c)
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Q)Ifa?—by—cz=0, ax—b*+ cz=0and ax + by —c* =0, then

the value of * + 4 + z will be
a+x b+y c+z

@ atb+tc ®) 3
© 1 @ 0
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Q)Ifa?—by—cz=0, ax—b*+ cz=0and ax + by —c* =0, then

the value of —> + 4 + £ willbe
a+x b+y c+z

(@ a+b+c b) 3

© 1 @ 0

Ans: (c)
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1

Q)Ifx=2+ 1

2+
2+

@ 2 -1() 2 +1

then the value of x 1s

(¢c) 3 (d) None
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1

Q)Ifx=2+ 1

2+
2+

@ 2 -1() 2 +1

Ans: (b)

then the value of x 1s

(¢c) 3 (d) None
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(@]

EXAMS

Q) What is the square root of23 — 4+/15
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(@]

EXAMS

Q) What is the square root of23 — 4+/15

Ans: (c)
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@i=]

EXAMS

Q) For which values of k , does the

equation x° — kx + 2 =0have

real and distinct solutions ?

(8) 242 e k<22

(b) k < —2~/2 only

(c) k> 2+/2 only

(d) k< —242 or k> 242
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EXAMS

Q) For which values of k , does the
equation x° — kx + 2 =0have
real and distinct solutions ?

(8) 22 < k<242

(b) k < —2~/2 only

(c) k> 2+/2 only

(d) k< —242 or k> 242

Ans: (d)
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8
Q) If96 — 64a> + — — — — > =0,
a6 a

then what is a°t + 4a” equal to?

(@) 0 () 1
(c) 2 (d) 3

EXAMS
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Q) If 96 — 64a” + 86 - 4? —t° =0
a’ a
then what is a°t + 4a” equal to?
(@) 0 () 1
(©) 2 (d) 3

Ans: (c)

EXAMS
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1 1 1
Q)Ifa+b+c=3,a2+b2+c2=6and ;+E+E =1, wherea,
b, ¢ are all non-zero, then 'abc' 1s equal to
2 3
@ 3 ® 5
1 i 1
© 3 @ 3

@i=]
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1 1 1
Q)Ifa+b+c=3,a2+b2+c2=6and —+—+— =1, wherea,

a b ¢
b, ¢ are all non-zero, then 'abc' 1s equal to
2 3
@ 3 ® 5
1 q 1
© 3 @ 3

Ans: (b)
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]

m—2

Q)If 1 +

— 4 then, what 1s value of

(m—2)*+ : =7

(nf——2)2
@ -2 (® 0 (©) 2

(d)

4
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Q)If ;; o+ 1 _ 4 then, what is value of
m—2
(m—2)*+ : — =7
(m — 2)2
(@ -2 (b) 0 () 2

Ans: (c)

(d)

4
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Q)What is the value of

1.001x1.001x 1.001 +0.999 x 0.999 x 0.999 _
1.001x1.001 —1.001x 0.999 +0.999 x 0.999

1 (b) 2
(c) 3 (d) 4
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Q)What is the value of

1.001x1.001x 1.001 +0.999 x 0.999 x 0.999 _
1.001x1.001 —1.001x 0.999 +0.999 x 0.999

Ans: (b)
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Q)If x? +y? —4x + 4y +8 =0, then the value of x — y is

(@) 4 (b) —4
© 0 (d) 8
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Q)If x? +y? —4x + 4y +8 =0, then the value of x — y is

(@) 4 (b) —4
© 0 (d) 8

Ans: (a)
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Q) What is the simplified form of

7 -5
[X" -3x+2

(@)

(c)

x> -8

i)
Xx° =9

x% +7x +12

(b)

(D

v
|
()

A A | A
+ |
wow

X+4

3 2
] (xj—kzx"—+4x
X

2
Xx“+3x-4

)

@i=]

EXAMS
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@i=]

EXAMS

Q) What is the simplified form of

x? —3x+2 . x> -9 o x> +2x% +4x o
x> -8 x? +7x +12 x> +3x -4

X X—2

@ T3 ®) T3
X+3

© X+3 @ Xx+4

Ans: (a)
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36+a4+az+1.
Q)Ifa=3+2 /2, then the value of 3 1S
a
(a) 192 (b) 240 (c) 204 (d) 212
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36+a4+az+1.
Q)Ifa=3+2 /2, then the value of 3 1S
a
(a) 192 (b) 240 (c) 204 (d) 212

Ans: (c)
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5
T
Q)ifp =
then 27 p3 e 2T oy 1t
en 27 p — - 213 413 is equal to
s S
8 TR
© 3 & >
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5
T
Q)ifp =
then 27 p3 e 2T oy 1t
en 27 p — - 213 413 is equal to
s S
8 TR
© 3 & >

Ans: (c)



CDS 12025 LIVE CLASS - MATHS - REVISION
(.
Q)Ifx=3+2 \/5 , then the value of L\/; —

@ 1 b) 2
© 242 @ 33
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(.
Q)Ifx=3+2 \/5 , then the value of L\/;—

@ 1 b) 2
© 242 @ 33

Ans: (b)
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Q)In solving a problem, one student makes a mistake in the
coefficient of the first degree term and obtains —9 and —1
for the roots. Another student makes a mistake in the
constant term of the equation and obtains 8 and 2 for the
roots. The correct equation was
@ x>+10x+9=0 b) x*—10x+16=0
(c) x> —10x+9=0 (d) None of these
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Q)In solving a problem, one student makes a mistake in the
coefficient of the first degree term and obtains —9 and —1
for the roots. Another student makes a mistake in the
constant term of the equation and obtains 8 and 2 for the
roots. The correct equation was
@ x>+10x+9=0 b) x*—10x+16=0
(c) x> —10x+9=0 (d) None of these

Ans: (c)
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Q)For what value of k, will the roots of the equation
kx> — 5x + 6 = 0 be in the ratio of 2 : 3?

@ O (b) 1
(0 -1 d 2
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Q)For what value of k, will the roots of the equation
kx> — 5x + 6 = 0 be in the ratio of 2 : 3?

@ O (b) 1
(0 -1 d 2

Ans: (b)
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Q) — b ¢ o , then find the value of
l-a 1-b6 1-c
1 1 1
+ +
l-a 1-b6 1-c¢
@ 1 (b) 2
© 3 (d) 4
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Q) — b ¢ o , then find the value of
l-a 1-b6 1-c
1 1 1
+ +
l-a 1-b6 1-c¢
@ 1 (b) 2
© 3 (d) 4

Ans: (d)
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Q) [fx=b+c—2a,y=c+a—2b,z=a+ b—2c, then the value
of x? +y* —z% + 2xyis
@ O (b) at+b+c
(c) a—b+c (d) a+b-c
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Q) [fx=b+c—2a,y=c+a—2b,z=a+ b—2c, then the value
of x? +y? — 7% + 2xyis
@ O (b) a+b+c
(c) a—b+c (d) a+b-c

Ans: (a)



CDS 1 2025 LIVE CLASS - MATHS - REVISION

Q) Ifa + b+ c= 8, then the value of
(a—4Y+bB-3P+(c-1P-3@-4)b-3)(c-1)is
(@) 2 (b) 4
(¢) 1 (d) 0
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Q) Ifa + b+ c= 8, then the value of
(a—4Y+bB-3P+(c-1P-3@-4)b-3)(c-1)is
(@) 2 (b) 4
(¢) 1 (d) 0

Ans: (d)
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Q)Ifa= ./6++/5 b= .6-+/5 then 2a% — 5ab+ 2b% =

(@) 38 (b) 39
() 40 d) 41
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Q)Ifa= ./6++/5 b= .6-+/5 then 2a% — 5ab+ 2b% =

(@) 38 (b) 39
() 40 d) 41

Ans: (b)



CDS 1 2025 LIVE CLASS - MATHS - REVISION

Q) Ifx + 4 =4, find the value of x° + { .
X JCJ
1
@ 8 ®) 8

©) 16 ) 16%
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Q) Ifx + 4 =4, find the value of x° + { .
X x‘)
1
@ 8 ®) 8>
1
©) 16 @ 16>

Ans: (b)
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